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5%‘% Marlborough Primary Class Home Learning Date
o~ Academy 3M Dayy | 22/6/20
Daily activities - 5 .a- [
|) TTRockstars — 30 .minutes -
Reading

2) Morning maths

3) Independent Reading - 30 .minutes

4) Spelling - 20 minutes

5) P.E. - Joe Wicks workout

Carefully look at the picture (Ltalion Lee Cream
with Friends) and answer the questions. Write the
answers in gour English hook.

-

Add lengths Video

Watch the wvideo, complete the activities
and .check your answers.

Worksheet

Answers

= ==

Try something new- .ask the person who prepares your
meals to give you a fruit or vegetable syoune never
tried hefore. Write down an accurate description of



https://vimeo.com/427994247

Italian Ice Cream with Friends

l!;
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How do you know the three female ladies are retired?

What do you think three male friends on holiday in Italy would do in this
setting?

How do you know the female ladies are very good friends?

. Identify ONE question you would like to ask about this scene.

How do you know the setting for this picture is in Italy?

. The title for the picture is Italian ice-cream with Friends. Why do you think this

title was chosen?

What season do you think this imnage was taken in?

. What is the weather like in the picture?

Why are the ladies standing up to eat their ice-cream?




Add lengths ' € srentis 115 amtall
His brother s 20 om taller.

How tall is Brett's brother?

Write your answer in metres and centimetres.

o Scott builds o bridge using planks.

120 cmi - 75 am

o Dora builds a tower that measures 1 m and 5 cm.

Annie builds a tower that measures 80 cm.

a) What i the total length of his bridge? m
Dexter builds o tower that meosures 95 om.
They put their towers together to make cne high tower.
How tall is their new tower?

b) What & the height of his bridge? cm

o Complete the additions.

a) 25:m+?51:m=|:|m

b) 10 cm + 50 mm = mm The new tower isl:lcm tall.
g 1 mll:l:m+|:||:m=2m

This is the same as m amd omi.
d) 52 mm + mm = & amn

& ihits Boes Matha HYH



o Red bricks are 50 mm long.

o lack, Tommy ond Alex took part in a hop, skip and
Blue bricks are 80 mm long.

jump competition.

Their distonces are showmn in the toble below.
Complete the table to show the total distance each

S0 mm &0 mm child travelled.
a) Whitney and Evo make potterns using the bricks, Q MWame Hop Skip Jump Total
Howw long is each pattern? Jock 830 cm &l cm 1m 20 cm
Give your answers in centimetres, Tommy 0 em 1m 1m 10 em
Alex 75 cm 75 cm im

o Esther builds a tower using some bricks.

E Her toweer is 24 am tall.

(Whitney ) [ o Which bricks could she have used?
Whitney's pattern is am long.
Ewa's pottern is cm long. 140 mmlm : ch 5
b} Drow some red and blue bricks to moke o pottern thot
| R

N ©

N

weould be exoctly 36 cm long.

-

How many different answers can you find? @

) -‘l m




N@z Marlborough Primary Class | Home Learning Date

= Academy 3M Day 2 23/6/20
Daily activities - 5 .a- !

[) TTRockstars - 30 .minutes -

2) Morning .maths

3) Independent Reading - 30 minutes

4)Sp,d,u,n,g—20,mirw,teﬁ

Write the definitions for each word. You can use
the internet or .o dictionary to help iyou.
Challenge: Write 3 sentences including these w.ords.

5) P.E. - Joe Wicks w.orkout
A
Subtract lengths Video
Watch the xideo, complete the activities | \Workehoot
and check your answers.
Answers

L ST g

o

Fantastic Faces: have a look .at this picture .of

[ » ) < foce made from fruit and vegetables.

Try making your own face. You could draw
Adifferent fruits and veq to make a face

© or octually moke a face on a plate with real
fruit and veq. Share your artwork on yowr portfolio.



https://vimeo.com/427994372

Write the definitions for each of these words.

active

culture

edible

female

gelato

horizontal

indulgence

mature

produce

retirement

senior

sunlight

togetherness

tourism

vacation

waist




Subtract lengths

o Jock's rope i 4 m 50 cm long.

He uses 2 m to make a swing.

Howwr long is his rope now?
o Complete the sentences to describe the lengths of

4m 50
the objects. meem .
Al i 7 7 7 7 7 7 7 7 7 7 7P 777 A
u} LS N r
? 2 |11I cut

Jock's rope is now D m and I:l om long.

o Tommy, Rosie and Annie each meosure their height.
a 1 2 3 4 5 & 7 B 9 1011 12 13 14 15

1m 15 cm
a) What is the difference in height between Tommy and Rosie?

=) (=) G

The toy boat is I:I cm long. D

b) Annie is 30 mm shorter thon Rosie. What is Annie's height?
c) The toy boat is D cm longer than the toy cor.

The toy car & Ij mm shorter than the toy boat. :

& ihite Boss Motk JH



° Nijah buys 5 m of ribbon. Q ° Fill in the empty boxes so that each row and column odds @

She uses 78 cm of the ribbon to decorote o bog. up to 2 m.

How much ribbon does she have left?

50 omi 50 cm

[mona[ Jem

1m 15 cm

o Complete the number sentences.

a) 2 m—5{l1:m=:|r_m
b) 85 mm - 2 em =I:|mm Talk about what you did with o partner. @

Are your answers the same?

9 5 - 20 = d
< 9om 5 mm mm | |cm o | |mm Create your own problem like this using o different total.

d) 100 mm - I:I om = & cm Ask o partner to find the answer.

@ Huon hos o 10 m ball of string. Q

He wses 50 am to reploce his shoeloce.

He uses some more of his string to make a bow for his orrows.

He has 7 m ond 45 cm of string left.

Howe mudh string did Huon use to make his bow?

| |mun|:l| |-|:m

& Whine Acas Raiu 1R
=3
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5%‘% Marlborough Primary Class Home Learning Date

@5 Academy 3M Day 3 24/6/20
Daily activities - 5 .a- [

|) TTRockstars - 30 mirnutes .

2) Morning maths Vocabulary 2

3) I R i - 30 minutes Tick the words that answer the .questions.

nependent Reading Lnclude these words in full sentences.
4) Spelling - 20 minutes
5) P.E. - Joe Wicks w.orkout

Measure perimeter

Watch the wvideo, .complete the .activities | Worksheet /
and .check your answers.

Answers



https://vimeo.com/427995490

Tick the word that is answers the question.

The word that means you can eat it.

active
edible
female

culture

Another word that can be used to

Tick one.

describe girls or ladies.

culture
produce
female

vacation

A word that is part of your body.

active
waist
sunlight

senior

Tick one.

Tick one.

The word that is an Italian ice cream.

retirement
vacation
horizontal

gelato

Tick one.

A word to describe when you don't go
to work anymore due to your age.

retirement
indulgence
gelato

produce

Tick one.

The word that means to treat

yourself.

vacation
horizontal
togetherness

indulgence

Tick one.




Measure perimeter

o Here are two rectangles.

Usa a piece of wool to meosure the perimeter of each rectangle.

How much wool did you need for eoch one?
Give units with your answer.

A= B=

o Use a piece of wool to measure the perimeter of the hexagon. &

Huowr much wool did you need? Give units with your answer.

o a) Meosure each side of the rectongle and label it.

b) What is the perimeter of the rectangle?

& ihiie Bowe Ratha J0H

L)



° Measure the perimeter of each shape. Q o Aicha is working out the perimeter of a rectongle. @
a) She measures the length of all 4 sides and labels the rectangle.

B 15 em i
) 50 em )
perimetar = How do you know thot Asho's meosurements are wrong? @

o Is it possible to work out the perimeter of eoch shape?

Circle your onswer.

a) 8cm
yes no
perimeter = yes no
e Drow a triongle with a perimeter of 15 om. & o
g )
4 o c
25 mim
How do you know whether you can or connot find the
perimeter of each shape?
Talk about it with a partner. @
L -

8 '‘White Ao Mo IR




q%’é Marlborough Primary Class Home Learning Date
B¢ Academy 3M Day & 25/6/20
Daily .activities - 5 .a- /
|) TTRockstars — 30 .minutes -
SPAG

2) Morning .maths

3) Independent Reading - 30 .minutes

4) Spelling - 20 minutes

Complete the online activities on ‘their, there and
re. Write the sentences uwsing the .correct
using

homophone in your English hook.

5) P.E. - Joe Wicks workout
o.I oo;;
Cm_m Mi.d&l What .are flowers for?
Plants need pollen from wother plants of the same type
Watch the wid loke. the biviki o make new seeds.

IN ' '! mw oI Worksheet Read the pollination poster to find .out more. Now can you

40 ) answer these .questions.

Answers. I Why are flowers colourful and amelly?

2. How does pollen get from one plant to .another?



https://www.bbc.co.uk/bitesize/articles/zk2c92p
https://vimeo.com/427995317

—

W o -

Complete these sentences using the correct homophone. The first three have been done for you

. "Look at the benutiful rainbow over there!” gnsped Lgdiﬂ_

The one with the white fence is their house.
Do you think the!;'re hiding?

Put the book over on the shelj.

bus was running late,

© © ® N o U oA W N

The cold wind made teeth chatter.
Could they be in ?
Blue Smarties are the best, my favourites.
Ava and Lucas put hands up at the same time.
Are you sure not real?
. The new teacher got books in a muddle.
. Twent last summer too!

Is a doctor anywhere near?




Calculate perime‘ler o Rosie and Eva work out the perimeter of the shope below.

& cm

4 om

o Work out the perimeter of each shape.

b+ 4 =10,
so the perimeter is

5com X Y ;
10 cm. ,
i The imeter is
5cm

aj

Who is correct?

Hovw do you know?

perimeter = I:I m

b 40 mim

o Tick the shopes with o perimeter of 16 cm.

8 om
Ei:m[ 40 rmm
d
0 ]
. B cm
g
O ]

& e Boes Matha J0H



o Which shaope has the longest perimeter? Tick your answer.
2cm N::m

4 cm
—
3 om 3 am
& cm & am
— &
d cm
20 mimn 20 mm

A

Show all your workings.

—
20 mm

O

e Work out the perimeter of these shopes.

al 3cm

Y

perimeter =

b) . B0 mm

30 mm
50 nmrn

10 mim
i

30 mm

70 mm

perimetar =

What do you notice?

© O

° This rectangle has o perimeter of 18 cm.
Work out the length of side a.

& cm

parimeter = 18 cmi

side o =




The Pollination Process

The flower's petals a Aftertheinsect hasfinished feeding, e
are brightly coloured it grows hungry again and moves

and its fragrant scent The insect e to a new flower.

attracts tnsects. in this case a

honeybee, arrives As the insect feeds on the nectar
on the flower to of the new flower, the pollen on its

collect nectar. body rubs onto the stigma.
This nectar is

a sweet liquid,

which makes Some of this pollen°
perfect  food then travels down the

. new flower's style and
for insects. .
into the ovary.

As the insect gathers the nectar, it e
rubs against the flower’s anthers,
which pass pollen onto the body of

the insect.




q.oll Gy

~qagsf% Marlborough Primary Class Home Learning Date
ol Academy 3M Day 5 26/6/20
Daily activities - 5 .a- [
|) TTRockstars — 30 .minutes -
Bia Weit

2) Morning maths

3) Lndependent Reading - 30 minutes

4)Sp,d,u,n,g—20,mirw,teﬁ

5) P.E. - Joe Wicks workout

Look at the picture, think ahout the questions .and then
continue the story in youwr English hook. Can you use
Ltheir, there .and theyre correctly?

.

Challenge
Friday challenges!

Answers

How many challenges can iyou complete?

Remember each one gets more difficult.

SRS

Howve .o look at the diagram showing the life cycle of o
Can you make your own diagram for a different type
of plowering plant?

If youre stuck for an idea, do an .apple tree!




How do you
think the lives
of the people in
the picture are
different?

What can you
tell about .a
person by
looking at the
clothes they

wear?

Do you think
100 years ago
had hbetter .or

w.orse lives

than ws?




Story starter!

Wherever we go in our lives, someone has heen there hefore us. [ts
sometimes hard to imagine.

When you walk down the street, when you trowvel to school or work, when
MouL go chout sour normal, everydoy business you are alw.ays surrounded
by the past. Memories. Moments. Hopes. Dreams. The lives of .others .are
entwined with ouwrs. We may not notice them, we .may not see or feel them,
but they are there.

Echoes of the past are all around ws. If you close your eyes and think, if
Mou close your eyes and let yowr imagination run wild, you can almost see
them. Almost feel them.

As they pass you by, you start to think. You start to .dream...

Extra .octivity:

Perfect picture!

items they might have in their pocket




The Flowering Plant Life Cycle

Seeds are spread out
so they can grow
where they are not
fighting for space with
the parent plant.

The seed starts to
grow when conditions
are suitable.

Th llen i
¢ porien th Roots grow,

usually
underground.

the flowers is
used to make
seeds.

A stem and leaves
form, and the plant
makes its own food
(photosynthesis).

Photo courtesy of Jim Champion, llee_wu, solylunafamilia, OakleyOriginals, Crispin Semmens, dinesh Valke (@flickr.com) - granted under creative commons licence - attribution

visit twinkl.com.au @‘
| venngt




The Flowering Plant Life Cycle

Complete by drawing a picture and writing a title and explanation for each stage.




